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a’ ab ac

(1) A24+82E=|ab v be |, A3 = —12A.
ac be 2
(2) A2+l = (—2)nA.
(3) A% = (—2)"~1A42,

_ = 1 2k+1 = 1 2k
(4) exp(A) —E+27(2k+1)!14 +Z—(2k)!A
k=0 k=1

= 1 2 - 1 2\k—1 42
:E+kzzo(2k+l)!(—t )’“A+;(2k)!(—t)k A?,

(D) M =1, =—1,x=—2.

-8 10 4 3 —4 -1 6 —6 -3
B)Pi=|-4 5 2(,P=]0 0 0|, P=[4 —4 -2
—8 10 4 6 —8 —2 2 -2 -1

(4) PP, =0,P,P;=0,P;P, = O.
(5) P12:P17P22:P27P32:P37 P1+P2+P3:E7)\1P1+)\2P2+)\3P3:A'
(6) Py, Py, Py OEIHHEIE 1,0, EHEME 1 OEHFZEHIZET1XITT,

2 1 3
Wp,(1)=C|1|,Wp(1)=C|O0]|, Wp(1)=C |2
2 2 1

[ E 0 DEAZEEIZET 2 KT T We, (0) = Wp, (1) +Wp, (1), Wk, (0) = Wp, (1)+
Wp, (1), Wk, (0) = Wp, (1) + W, (1).
2 1 3
e B, P = |1 (—4 5 2),P2: 0 (3 4 1),P3: 2 (2 9 —1)
2 2 1
LRRTDZIENTE, P, P, P; OFEZY NS 1 TH 3,

(1) Ay =2, = —1.

2 -4 5 8§ —18 24
2) N=16 —-12 15|, 8=|3 -7 12|,
4 -8 10 0 0 2

(3) N2=0,SN —NS=0,f(S)=0,S+N = A.
(4) S A BEEMEI 2, -1 TH5,
2 1 1 2
Ws(=1)=Wua(-1)=C| 1|, Wa@)=C|3| cWs@)=C|3|+C]|2
0 2 2 1



